[Overleaf] -
Paper: Copula, Turklang2025 - [Association for Computational Linguistics (ACL)
conference]

Phenomena

H, Y, ©.
Bare predicates

Kyrgyz: Aniiiia — BOKTYD. (Ayse is a doctor.) link
Tatar: Aite — Tabuo.

Sakha: Ariiiia — JORTOp.

Turkish: Ayse doktor.

Uzbek: Oyisha — doktor.

Kyrgyz: Byn kum? (Who is this?)
Kyrgyz: Byn men, Mypart. (It's me, Murat.)

Azerbaijani: Deniz harda? (Where is Deniz?)
Kyrgyz: Jenus Karifa? (Where is Deniz?)
Uzbek: Deniz gayerda? (Where is Deniz?)

Azerbaijani: Deniz evda. (Deniz is at home.) Link
Kyrgyz: lenus yiige. (Deniz is at home.)
Uzbek: Deniz uyda. (Deniz is at home).

Negated bare predicate (degil/amec)

- The fruits are bad.

- Iknow the fruits are not good.
Turkish: Meyvelerin giizel olmadigini bilmiyorum.
meyve-ler-in glizel ol-ma-dig-1-m bil-iyor-um
fruit-PL-GEN good be-NEG-VN-POSS.3-ACC know-PRES-1SG
Kyrgyz: [[yKeHAery >KeMUIITep yKaKIITbl IMeC IKeHUH OuieM.



https://github.com/UniversalDependencies/UD_Kyrgyz-TueCL/blob/9285a75fa6c4307ce75b78096c7fe9a66f04f2d3/ky_tuecl-ud-test.conllu#L547
https://github.com/UniversalDependencies/UD_Azerbaijani-TueCL/commit/d58b3b25b5bd0692d7e4a57735d07ef70aadf711#diff-07050265e10b79ef9aa1c6928fd69b1f600dae74bdea93cc6f71074edeac0239R808

JKaKIIIbI K€ >KaKIITbl 9MeC SKEHUH 616erim.
Azerbaijani: Bazarda mive var amma yax¢i1 dayil. Link

Kyrgyz: [lyreHze skeMutll 6ap, 6Mpok >kakiiibl aMmec. (There's fruit at the store, but
it's not nice.) link

Tatar: KubeTTa skymeIt 6ap, IOKUH SXIIIbI TYTel.

Sakha: MagahbibiHHA QpyTKa 6aap, o1 rbIHaH 6apaH y4yraia cyox. (There's fruit
at the store, but it's not nice.)

Sentence #9 in link

Oh... is it then: Magahpibirrera ¢hpyTKa 6aap, 01 rbIHaH OapaH yuyraii 6yonbaTax?

Uzbek: Bozorda meva bor, ammo yaxshi emas.

Azerbaijani: Ayse diiktiirdii(r). Link

Kyrgyz: Aniiia — (Ayse is a doctor.)

Tatar: Avis — TabubaeIp. (an inferential meaning ‘Ayse is apparently/probably
a doctor’; there are possibly also dialectal differences)

Turkish: Ayse doktordur.

Uzbek: Oyisha doktordir.

Kyrgyz: Byn meHMuH, MypaTmbIH. (It's me, Murat.)
Sakha: By muH, MypariibIH.
Uzbek: Bu menman, Murotman.

Sentences with forms of defective verb i-/3-/etc.

Azerbaijani: Boyiik nonosi parastaridi. (His/her grandmother was a nurse.) Link

Kyrgyz: AHubIH TaeHecu meq avibim a1ie. (Their grandmother was a nurse. Also: Their
grandmother is just a nurse.)

Tatar: 96uce maKaTh TYTAIIIbI UJE.

Abise sifqgit tutasi ide.

Sakha: Kunuiap 2632519pa mezcectpa aTa. (Their grandmother was a nurse.)
Sentence #6 in link


https://github.com/UniversalDependencies/UD_Azerbaijani-TueCL/commit/d58b3b25b5bd0692d7e4a57735d07ef70aadf711#diff-07050265e10b79ef9aa1c6928fd69b1f600dae74bdea93cc6f71074edeac0239R447
https://github.com/UniversalDependencies/UD_Kyrgyz-TueCL/blob/9285a75fa6c4307ce75b78096c7fe9a66f04f2d3/ky_tuecl-ud-test.conllu#L684
https://github.com/ud-turkic/udtw23/commit/e0af5d4961a0d1bb44a62d561183b9e92cf91f57#diff-3d84c811690f01d8dbd93d4a9b77abb769aa11b68088e018d6d0ac27c35cc8e3R54
https://github.com/UniversalDependencies/UD_Azerbaijani-TueCL/commit/d58b3b25b5bd0692d7e4a57735d07ef70aadf711#diff-07050265e10b79ef9aa1c6928fd69b1f600dae74bdea93cc6f71074edeac0239R368
https://github.com/UniversalDependencies/UD_Azerbaijani-TueCL/commit/d58b3b25b5bd0692d7e4a57735d07ef70aadf711#diff-07050265e10b79ef9aa1c6928fd69b1f600dae74bdea93cc6f71074edeac0239R399
https://github.com/UniversalDependencies/UD_Kyrgyz-TueCL/blob/bd7f2428459816818a8b2eb6d86808c1a185aad7/ky_tuecl-ud-test.conllu#L628-L640
https://github.com/ud-turkic/udtw23/commit/e0af5d4961a0d1bb44a62d561183b9e92cf91f57#diff-3d84c811690f01d8dbd93d4a9b77abb769aa11b68088e018d6d0ac27c35cc8e3R54

Uzbek: Buvisi hamshira edi.
Kyrgyz: [lenus yrige ane. (Deniz was at home.)

1st person

2nd person

3rd person

copula ane (“was”)

MeH CTYAeHT 371eM.

CeH CTY[eHT JJIen,.

adverbial asme (“just”)

MeH CTYOEHT 3JIEMUH.

CeH CTYIeHT 3JIeCHH.

AJI CTYZIEHT 3J1€.

auxiliary ane

MeH CTyieHT 60/10T
JIEM.

CeH cTyOeHT 60/10T
3JIEH,

A cTyeHT
6oroT a11e.

Tatar: [JleHU3 o192 uje.

Deniz 6yda ide.

Uzbek: Deniz uyda edi.

Sakha: [lenns npusgs (b6aap) oTa.

Sentences with forms of "become” verb (in "be" meaning) 6on-/ol-/6yon-

Kyrgyz: [lerus 1oKTyp 60m10T, bunum Koti! (Deniz will be/become a doctor, know

this!

Kyrgyz: [lenu3s 1orTyYp 6010T. (Deniz will be/become a doctor.)

Tatar: Ao — Tabu6 6yma. (CHECK THAT THIS IS "BE" MEANING)

Turkish: Deniz doktor olacak. (Deniz will be/become a doctor.)

Kyrgyz: [lenus yiine 6onuy. (Deniz was at home.)

Uzbek: Deniz doktor boladi. (Deniz will become a doctor)

Sentences with forms of "become” verb (in "become" meaning) 6on-/ol-/6yon-

Azerbaijani: Deniz diiktiir olacax, bilmis ol! (Deniz will be a doctor, know this!)

Link



https://github.com/UniversalDependencies/UD_Kyrgyz-TueCL/blob/bd7f2428459816818a8b2eb6d86808c1a185aad7/ky_tuecl-ud-test.conllu#L700-L713
https://github.com/UniversalDependencies/UD_Kyrgyz-TueCL/blob/9285a75fa6c4307ce75b78096c7fe9a66f04f2d3/ky_tuecl-ud-test.conllu#L1171-L1181
https://github.com/UniversalDependencies/UD_Kyrgyz-TueCL/blob/9285a75fa6c4307ce75b78096c7fe9a66f04f2d3/ky_tuecl-ud-test.conllu#L1194-L1204
https://github.com/UniversalDependencies/UD_Azerbaijani-TueCL/commit/d58b3b25b5bd0692d7e4a57735d07ef70aadf711#diff-07050265e10b79ef9aa1c6928fd69b1f600dae74bdea93cc6f71074edeac0239R462

Sakha: Jlerus gorTop 6yonyo, ony 6vt! (Deniz will be a doctor, know this!)
Sentence #10 in link

Kyrgyz: [lenus 1okTyD 6omoT, 6unun Kori! (Deniz will be/become a doctor, know
this!)

Tatar: Jlenns Tabu6 6ynavyax, 6eJ IryHbI!

Kyrgyz: [lenus 1oKTYp 60710T. (Deniz will be/become a doctor.)
Tatar: Ao — Tabub 6yma. (CHECK THAT THIS IS "BECOME" MEANING)

Uzbek: Deniz doktor boladi. (Deniz will become a doctor)

Sentences with forms of "become” verb (in "happen" meaning) 6on-/ol-/6yon-

Kyrgyz: Bup Hepce 6ongy/6onynTyp. (Something seems to've happened.)

Turkish: Bir sey oldu.

Uzbek: Bir narsa bo’ldi/bo’libdi.

(0191 (o}

Embedded copula: verbal adverb forms

Kyrgyz: ©cyMmayK y3yH 6oy ecty. (The plant grew tall))

Embedded copula: verbal noun forms of 6on-/ol-/6yon-

Azerbaijani: Deniz tatil oldugunu yadinnan cixardip, madrasays getmisdi. (Deniz
(evidentially) went to school (because) she/he had forgotten that it was holiday.)
Link

Tatar: JleHr3 KaHUKYI (TabTWI) OyJIraHHbBI OHBITHIIT MOKTOIIKS OapraHbIp.

Deniz kanikul (ta’til) bulgannm onmitip maktdpkd bargandir. (haven’t been
confirmed by a native speaker)

Uzbek: Deniz ta'til bolganini unutib, maktabga ketibdi. (non-firsthand

information)

Embedded copula: verbal noun forms of 3-/i-


https://github.com/ud-turkic/udtw23/commit/e0af5d4961a0d1bb44a62d561183b9e92cf91f57#diff-3d84c811690f01d8dbd93d4a9b77abb769aa11b68088e018d6d0ac27c35cc8e3R54
https://github.com/UniversalDependencies/UD_Kyrgyz-TueCL/blob/bd7f2428459816818a8b2eb6d86808c1a185aad7/ky_tuecl-ud-test.conllu#L700-L713
https://github.com/UniversalDependencies/UD_Kyrgyz-TueCL/blob/9285a75fa6c4307ce75b78096c7fe9a66f04f2d3/ky_tuecl-ud-test.conllu#L1171-L1181
https://github.com/UniversalDependencies/UD_Azerbaijani-TueCL/commit/d58b3b25b5bd0692d7e4a57735d07ef70aadf711#diff-07050265e10b79ef9aa1c6928fd69b1f600dae74bdea93cc6f71074edeac0239R1004

Kyrgyz: [[eH13 KaHUKY/I 9KeHUH VHYTYI MeKTelnke 6apeinTeIp. (Deniz apparently
went to school forgetting that it was a holiday.)

Tatar: JleH13 KaHUKYJI (TabTUI) UKOHEH OHBITHII MOKTOIKD OapraHbIp.

Deniz kanikul (ta’til) ikdnen onitip mdktdpka bargandir. (haven’t been confirmed
by a native speaker)

Uzbek: Deniz ta’til ekanini unutib, maktabga boribdi. (non-firsthand
information)

What’s the line between copula forms of verbal nouns and forms that we treat
as just verb forms?

Kyrgyz: Kurern >ka3yygamsbiH. (hypothetical/fancy)
Kurern >Ka3raH >KOKMYH.
Kutenrtu 6yType Typras 6omom.
Kurentu 6yTypreH 6omom.

KuTen 6yTYpProHMYH.
ByTypce 6010T/605160MT.
ByTypyyre 60510T/60/100MT.
ByTypreure 6010T/60100MT.

Turkish: Kitap yazmaktayim.

Kitap bitirmek {izereyim.
Yapiyor olacagim.
Bitirmis olacagim.

Olur. / Olmaz.

Uzbek: Kitob yozmogdaman.
Kitob yozganim yoq.
Kitobni bitirgan bolaman.

Annotation questions

1. i-/e- vs. bol-/ol- (become sometimes)

Deniz evde olacak. (Deniz will be at home.) Deniz evde. (Deniz is at
home.)
Deniz ev-de ol-acak Deniz ev-de


https://github.com/UniversalDependencies/UD_Kyrgyz-TueCL/blob/bd7f2428459816818a8b2eb6d86808c1a185aad7/ky_tuecl-ud-test.conllu#L1498-L1512

PROPN house-LOC be-FUT PROPN house-LOC

Bir sey oldu. (Something happened.)
bir sey ol-du
one thing be-PST

[leHu3(duH) yii0e IkeHUH 6UJI2eH HCOKMYH.

Deniz’in evde oldugunu bilmiyorum. (I don’t know that Deniz was at home.)
Deniz-"in ev-de ol-dug-u-nu bil-m(A)-iyor-um
Deniz(-GEN) house-LOC COP-VN-POSS.3-ACC
know-NEG-PRES-1SG

Four options:
i-/e- is separate “copula”, 601-/ol- is separate copula (ALL COP OPTION -

POLICE STATE)
ROOT ROOT
<nsubj [- copr> i [- copr>
1 uyda @ ledi 3] evde|2) (olacak]3]

ROOT

<ccomp

<nsubj COPD

m [uyda 2] [ekanlnl | 3] [bllmad|m|4l

(PROPN] AUX

i-/e- is separate “copula”, 6011—/01— is distinct verb (Jonathan’s & Nikolett’s
approach) - let's go with this one



ROOT

<nsubj
ROOT
<nsubj [- copr> <advmod
m. uyda[2) [Denlz [1) [evde B olacak]3)
PROPN NOUN AUX

PROPN] [NOUN (VERB]
ROOT
<jccomp
fﬂnsum\[[wpb \
Deniz|1 [uyda 2] [ekan|n||3] [bllmad|m|4]

fow) (A

i-/e- is separate “copula”, 6011—/01— is distinct verb depending on whether it
means “be” or not - (2025-02-21) choose this with fallback of #2 when
annotator is not sure (but not necessarily all cases of ambiguity)

ROOT ROOT
<nsubj [- copr> <Insubj [- copr>
uyda|2 ;edll3 |Denlz;1| evdeE]
|PROPN| (NouN] AUX [pRoPN] [NOUN] AUX
ROOT

<Insubj
/ [- <qxcomp

[Denlz | [doklorl 2]

[PROPN] [NOIUN]

ROOT
<ccomp
ROOT
<det \ [- <ansubj f- <insubj \ [- copr> .\
(Bir[1) (sey|2] oldul3 [Den|z|1] [uyda 2) [ekan|n||3] |bilmadim|4]

(oET) (NOUN) (PROPN) (NoUN) (AUX)




4. i-[e- is distinct verb, 6051-/0l- is distinct verb (NO COP OPTION - DEFUND
THE POLICE)

ROOT

_ ROOT
<ansubj o
<nsubj

<xcomp xcomp

[Deniz | 1] [uyda| 2]

[Denlizll] [evdle|2] olacak|3]
(PROPN]  (NOUN)

[PR(I)PN] [NOIUN]

ROOT

<insubj
’ qxcompx <ccomp \

[Demz | l] [uydal 2] [ekanlnl I 3] Ibllmad|m|4]

[PROPN] NOUN] VERB] VERB

- Re 4, when copula is null (3(sg) ~present) having it as ROOT would be a
problem

- Re 3, it’s hard to know what was intended, and interpretation may rely too
much on translations into other languages

- Rel, ol-/60n- seems like a lexical verb that sometimes behaves as a copula,
easier to treat as a lexical verb all the time (see "Re 3")

- Re 2, easy to annotate, and consistent; theoretically speaking, the copula is
treated as a supportive element (although this becomes not ideal when
embedded)

2. Tokenisation

ROOT
<nsubj /7~ copr>
[- -\ deydim ,_5
\ v
Ben|1 evde|2 [ydim 3

1 1
(PRON] NOUN AUX




1 Ben _ PRON _ _ 2 nsubj

2-3 evdeydim _ _ _ _ _ _ _ _
2 evde -~ NOUN _ _ O root _ _
3 ydim i AUX _ _ 2 cop

Ben evdeydim. (I was at home.)
ben ev-de=y-di-m
me house-LOC=COP-PAST-1SG

ROOT

[ <nsubj \ [ copr>

[B evde|2

|PRON NOUNI

Ben evde idim. (I was at home.)
ben ev-de i-di-m
me house-LOC COP-PAST-1SG

ROOT

<Jnsubj \

evde]2

NOUN

1 Deniz PROPN _ 2 nsubj _ _

2 evde NOUN 0 root _ _

Deniz evde. (Deniz is at home.)
Deniz ev-de
PROPN house-LOC



CAN'T DO THIS A
No empty tokens
Can just leave out token 3

Preferable:
ROOT

<nsubj cop>
\ yydaman ,_,

Ve) | (@l (wen
[PRON| NOUN AUX

1 Men _ PRON _ _ 2 nsubj
2-3 uydaman

2 uyda uy NOUN _ _ O root _ _

3 man e AUX _ _ 2 cop
- This is our preferred approach

Undesirable:
ROOT

<nsubj

Men 3 uydaman|2

(NOUN

Ben evdeyim. (’'m at home.)
ben ev-de-yim
me house-LOC-[COP.PRES]1SG




ben ev-den-im
me house-ABL-[COP.PRES]1SG

ben ev-den-mis-im
me house-ABL-[COP]PST-1SG

ben ev-den i-mis-im
me house-ABL COP-PST-1SG

2.
Pers=3
Num=1
Pers=1
Num=1

[Buydum 1]

Pers=3
Num=1
Pers=1
Num=1
Tense=Past

It was me.
Bu-y-du-m
this-COP-PAST-1SG



ROOT

copr>

Buydum ,

|
ma ydum 3]

PRON AUX

- This is our preferred approach
1. Keeps structures parallel
2. Avoids tense(etc.) features on nouns
3. Avoids conflicting person/number/etc. Features
4. Treats it syntactically as two words (“subwords”)

3. Dash/hyphen

e There's a sense that this indicates copula, although only orthographically
(maybe including prosodic pause, as with other punctuation)

e However, it seems like more of an orthographic convention to help with
reading than a syntactic element indicating copula (cf. "I like cooking,
family and friends.").

e Even in Russian when — is used in copula sentences, the actual word
indicating a copula (3T0) can also be used (" X — aTo Y"). You wouldn't
want to annotate both as cop.

Thus, punct is preferred.



ROOT

<nsubj

ROOT

<nsubj

punctr>

1 2
PROPN] [PUNCT|  [NOUN
4. Degil/amec

His/her health was not well.
Saghig iyi degil idi.
JIeH COOJYTY >KaKIIIbI Jlefie aMec 60Iay.



ROOT

copr>

advmodcr>

dayllmls 2_
Evda [dawﬂZ] hn§|3]
V) (A
ROOT
<nsubj \ [- advmodr> X
1) doktor]2 degil[3]

NOUN ADV

Okay in some languages (Kazakh and Kyrgyz, but not Turkish or Uzbek):

ROOT
<nsubj
<lamod
ﬁ advmodr> \
[,[I,EHM3 XaKLbl | 2 amec|3

i_l_‘!
| PROPN ADJ |ADV

“Deniz is a not good doctor.”

(What PART is for:



ROOT

OeHns|1l XaKLbl ?16
_ 1
(PROPN| (ADJ NOUN] [PART| | (PUNCT
)
ROOT
punct>
<nsubj copr
<Jaux
[- muydu
vi L1
Denlz Iyi|2 doktor|3 mu |4 ydu |5 ?|6
1 _ 1 1
PROPN] (ADJ (NOUN PART| [(Aux| |(PUNCT]

Other considered approaches with emas/deyil:




<nsubj

[Denlz yaxshl

PROPN ADJ

ROOT

<amod cop/advmodr>
[- A 4 \
] em

doktor|3

|NOUN

Emes as a negator of finite verb forms:

Treat them as auxiliary?
ROOT

=\l

copr>

as|4

ledi

5

1
AUX/ADV/PART|

[AlIJX

MeH ] 6apma|(

3MEeCMUWH |3

PRONI VERB

AUX

Better than ADV with agreement

Similar to Uralic negative auxiliaries. (Those take different tenses; amecmuHx

looks like ADV + COP, e.g. the following, like “isn’t”):

ROOT

cop>

L1

<nsubj advmodr>
\ 3MEeCMUH
MEH 1 ,qourop 2 [3mec|3] [MMH|4]

NOUN

|ADV| |AUX|

So a better approach could be this:




ROOT

auxe

<nsubj advmodr>
MECMWH 5
A 4
MeH |1 Gapmak|2 [3MEC|3] [MVIHI4]
1 1
) @

“I'wouldn’t have gone”
By keeping a similar structure, we can keep it parallel:
(aff: Men 6apmarkmbIH. “I would’ve gone”)

ROOT
<nsubj 7~ AUXD> =
[ bapmakmbiH , |\
v ¥
MeH |1 6apmak|3 MbIH | 4
I 1 -
PRON VERB AUX

For 3rd person we want to avoid an empty token:

ROOT
[ <nsubj \
An|1l 6apmak|2
PRON VERB

“He/she would’ve gone.”

Means that when there’s a copula used as auxiliary that’s a separate word, it has
the same structure too:



ROOT

auxe-

<Insubj advmodr>
AV
m Gapmak]2 [3mec | 3] [:-meM |4]
1 1
laDv)  [aux]

5. Non-finite verb forms with copula
verbal noun with locative case and copula
e yapmaktayim (I'm in the process of doing ...), gerceklestirilmektedir (it’s
being realized)
e KbUIYY/IaMbIH, IUTaHa/IYyAa, MepUYeM/IeNy Yo, YMPOHYYI6MYH
e KBbUIYOAMBIH, IVITAHAANYAB], ..., YUpEeHYyJeMiH
- these we could analyse as VN.loc + copula (with 2 subtokens)

Lemma=yap, Form=VerbalNoun, Case=Loc

non-finite forms with copula

e yapmis olacagim (I'll have done ...), yapiyor olacagim (I'll be doing ...)

e kbuiraumsIH (I have done), kpuiran 6onom (I will have done (?)), Kbuiran
6omuymyH (I had done (?)), kbita Typran 6omom (I will prepare to do (?79)),
KbUTa Typra 6onaym (I decided to do)

e KymeTyI 6yTme 6oy
> let's just say these are all auxiliary constructions and forget about it

- [JokTop 60moT 60my111(YM) Kepek

- Doktor olacak olmali(yim).

- Doktor olacak olsa gerek.

- Doktor olsa gerek. / Doktor olacak. (She must be a doctor.) Uz: Doktor
bo‘lsa kerak.

- Finite and non-finite verb forms with ane:

- Bongy 6ene [ 6onmgy e
- KasraH ane

- Bomuy 6ene

- AWTaT 6esey

- OuoH0M 60JIMOK 6ee?



ROOT

copr>
yap aktaylml

yim | =
-
VERB AUX
VerbForm=Vnoun Tense=Pres

Case=Loc

ROOT

2

ydim
1

AUX

—

Tense=Past




ROOT

ROOT

yapmis [yapmis adami gordiim / yapmis[]1 gérdiim] - normally Vform=Part
Lemma=yap
Vform=Inf

olur []
POS=AUX
Lemma=ol



Vform=Inf

dum
POS=AUX
Lemma=i
Vform=Fin

ROOT

@)

yapiyor
Vform=Inf

idim
deprel=aux
POS=AUX
Lemma=i
VerbForm=Fin

)
yapiyor

VerbForm=Vnoun
Case=Nom

idim |2

AUX




idim
deprel=cop

ROOT

(Kyrgyz: 6apraH anem)
(Uyghur: Barghan idim)
(Turkish: gitmis idim / gitmistim)

borgan edim

VerbForm=Inf POS=AUX (deprel: aux)
VerbForm=Fin
Person-=1

borgan edim

VerbForm=Vnoun POS=AUX (deprel: cop)

Case=Nom



ROOT

[s['lrpriz

1

<nsubj/nsubj:outer

[ <nmod:poss/nsubj:inner

ROOT

NOUN

Deniz'in 2]

gelmesi | 3

|PROPN

lVERB




ROOT

<jadvcl

borganda|l

(Kyrgyz: bapraHza aTam)

borganda
VerbForm=Vnoun
Case=Loc
ROOT
<nsubj /£~ auxe
[ \ gﬁmigsin 2_A
\v] ¥
[Sen 1 gitmi§|2 sin|3
, 1
PRON |VERB AUX
ROOT
<nsubj /7 auxe
[ gltmistin 2_3\
| v
Sen|1 gitmis|2 tin|3

= o
PRON |VERB AUX




ROOT

Sen|l gitmig.lz idin|3

_I__J
PRON |VERB AUX

[gitmis 2] [0Idur|3] [dun |4]
1 1
(PRON A (A

ROOT

auxe

<nsubj auxc>
\ \ oldurdun
v ¥ v

6. Light verb constructions (?) with ol-/6on-

With ol-/605-

HepB 6o1gym (borrowing), mariza 6o- (only used in this construction),
mmiop 6051- (only used in this construction), afipan-Tag 60m1- (only used in
this construction), b1k 6051-, Kaza 6011- ‘die’ (only used in this construction
and with Tan- ‘be killed’)
Berhiidar ol! (Be blessed!; only used with ‘ol-’ but it’s obvious that
‘berhiidar’ is adj)
sag ol,
Kutebum oomuH 60iay. (My book came to an unfortunate end / met an
unfortunate fate.)

o Tobe PROPN-ed.
kayb-olmak (to be lost). Kitabim kayboldu. (My book is lost.)

o Onu kaybettik. (We lost him/her. [He/she’s passed away.])

o mahv-olmak



e "N as indefinite object of verb: annotate these as compound, unless noun
can take morphology or noun and verb can be separated by adverb” - but

hard to tell with 60-/ol-

Many appear to be adj/n+be:

o memnun oldum, how is this different from “giizel oldu”

Maybe just predicate adjective
e sokol-

Also attested with other verbs (yap-/kbui-)

e ylriyius yapiyorum
e T'MMHACTHKA KbUIBII aTaM

Forms with aT-/et- (Ivc)
e 3BaHTET-

e ziyaret / tebrik etmek (visit / congratulate)
e "word limited to use in compound - annotate these as compound (or

fixed?) "
Yiire [ Ken). yure [ Ken).
(SVCs allow scrambling)
JJocym MeHeH CYWIOIITYK. % JIOCYM MeHeH CYWIOIITYK.

n

(productive converbs don't allow
scrambling)

JocyM/ly HaH aJIbIIl YITYHO KeTKUPUM.

***HaH gocymay ajbll YIIYHO
SKeTKUPAYM.

MBbIIBbIKKA
oepaum.

- I got the bread and gave the cat food
- I got the bread for the cat and gave it
food

TaMaK-alll

MBIIIIBIKKA TaMaK-alll
oepaum.

- *** T oot the bread and gave the cat
food

- 22?1 got the bread for the cat and gave

it food

2Har yire
(could show that an isn't ditransitive;




Dative is licensed by ke, not an-)

Yiire KeJL. 2Har yire aa KejL.

Eve ekmek al. Elma degil, ekmek eve al.

7. Existentials var/yok, 6ap/»xok, bor/yo’q

- Adjective-like (function as predicates with non-verbal agreement and
copula support), but lack many properties of adjectives (can’t directly
modify nouns IN TURKISH/AZORBAYCANI), but in Central Asian Turkic

this is okay:
<nsubj <acl
uyi|1 bor|2 kishi|3
| ,—l—.
NOUN ADJ NOUN
- Another approach:
<nsubj auxr
men|1 bor|?2 edim-3
F_I_N 1
PRON VERB AUX

e The problem with this approach is that existentials are not verb-like:
no verb morphology (tense, person, etc.).



e E.g. uypiraMm / ybIKIia from 4bIK-,
but *>korom / *>koK1o from >KoK
e cikayim / cikma, but *yokayim / *yokma

- Asadjectives, they can be glossed in English as PRESENT, ABSENT

- Instead:
ROOT

<nsubj cop>

men|1 bor|2 edim|3

PRON ADJ AUX

- Instead:

ROOT

<nsubj copr

men‘l yaxshi B edim‘3

PRON ADJ AUX




- If we treat existentials as "copulas”, then this is what it looks like:

ROOT

copr>

m E borman |2

PRON AUX
- Instead:
ROOT
[ <nsubj \
me borman
PRON ADJ
- Or more accurately:
ROOT
<nsubj copr>
[- orman ,_,
Y
men 1] bor|2 man |3

PRON] AUX

- How do we know they're ADJ and not NOUN



- ADJ and NOUN can both be predicates (OKRTOpMYH, >KaKIIIBIMBIH)
- Morphologically speaking, ;kokuynyK/6apubUibIK argue for noun
status
- JKOKTYK/6appbIK argue for adjective status
- most adjectives can be used as nouns in Turkic
- asadjectives, can't be considered gradable (*en var, *3H k0K,
*KOrypaak)
- as adjectives, in TURKISH/AZ, can't be attributive
- This is like predicate-only adjectives in English: awake, alone,
alive, alert, asleep (*an asleep person)
- It's completely fine for adjectives to appear only in predicates
- It's easier to treat existentials as ADJ

- seem to be no arguments against
- might be some arguments for NOUN
- would be fine in TURKISH/AZ
- is difficult for Central Asian Turkic, where existentials can be
attributive

capsl - ADJ

capsbl - ADJ used as NOUN

capbl - NOUN

capsbl rynzep (attr)
MEHUH T'ylIyM caphl (pred)

capblIap Mara >KaKThbl
CapbICHI 9H >KAKIIBICHI 9KeH
(nsubj)

sar1 [araba] giizel

Capbl JKaKIIIbI 6H
sar1 giizel renk

(PKROK ryngep ) JKOL'Y ...

NOUN NOUN used as ADJ ADJ

erkekler geldi — erkek cocuk
ogretmenim erkek

demir demir yumruk? demir kap1

iron iron gate/door

anma aziMa flapak —

epnep Kengi - the men came

ep Kici - male person

ep Kici - brave person




JKaIllbIM _ — JKalll KNIy

>KYMYPTKaHbBIH CapbIChI capsl (yellow)
(volk)
(capbIChI CMY3HCH)

QA-Note: kir: 'y TanmbslpMa - Uy tapsirma (eng.: home work)’, does it work as
NOUN used as ADJ? Or, is it just ‘yit <-compound - Tammsipma’? nmod vs.
compound

8. Auxiliaries/verbs used in copula-like ways

[eHus yue.

[leHu3 yiie >Kyper.

(feels like yitme 60nyn >kyper, as if there’s a non-finite copula, and >kyper is
adding aspect)

JleHu3 yiiie OTypar.

In Kazakh:
1 2
JeHus yupge.
[eHus yize >xypezi. [eHus yipe >xyp.
JeHus yuje >kaTajpl.  [leHus3 yujae >KaTbIp.
leHus yuae Typagbl.  [leHus yupae Typ.
JleHU3 yiifie OTbIpaAbl. [IeHus3 yije OThIp.

MeH yrifie >KypeMiH. MeH yrifie >KypMiH.
First sentences (1) are ~more lexically “goes, lies, stands, sits” — probably main
verbs

Second sentences (2) are “is” with different aspectual information.
Question is: are the second sentences copulas or main verbs?

Like Kyrgyz, this is ambiguous in the past in Kazakh as well:
Henwus yiife >kaTThl. - (1) Deniz lay down at home, OR (2) Deniz was at home (for
a while).

(1) Deniz evde yatti/ (2) Deniz evdeydi / evde idi.




In Kyrgyz you get the (1) readings only in some cases
JeHn3 >KyMYIILICY3 VI TYpaT/>KaTaT/OTypaT/>KypeT.
But >kyp is more broadly usable: lenus yiige ;kypeor.

Which of these two would be the “correct” annotation:

ROOT

<ansubj
ROOT

<ansubj [- cope> \ [- <jobl
@ews]1) (e[ (op3) @[ (wze[)  Ge]3
(aux]  [ProPN]  (NOUN) (VERB]

In Kyrgyz both could be possible depending on the meaning:

¢)) ()
ROOT
<insubj
ROOT
<insubj A-L[- copr> [ 40\
ﬁ% yiige|2 XaTThl 3 [,[l,eHmsll] [VMABIZ] [)KaTTbII3]
[pR(')pN] [NOIUN] AUX PROPN] [NOUN] [VERB]

(1) Denis was at home (doing nothing) - Deniz evdeydi.
(2) Deniz lay at home - Deniz evde yatti.

In Kazakh it’s unambiguous ONLY in the present tense.
In Kazakh and Kyrgyz, it’s ambiguous in all (other) tenses.

OPTION 3.

JleHus yiize sKaTThl. = Jlenus yige 6onyn skarthl ¢ (feels like an -ip form of 2-)
BaT-6aTTaH KelIuil TypaT. - where Typ is an auxiliary with similar aspectual
meaning as in the copula use.

Auxiliary construction with elided non-finite copula (gap in copula paradigm?)



ROOT

<Insubj aux> \

[,[l,r-:-Hus 1 ynae B [)KvpeT 3
]

|PROPN NOUN AUX

1 AHJIBIKTAH _ PRON _ _ 4 nmod _ _
2 MeH _ PRON _ 4 nsubj _ _

3 M _ ADV _ _ 4 advcl _ _

4 Oapbatt _ VERB _ _ 0 root _ _
5 KOé _ AUX _ _ 4 aux _ _

6 aJIMaK _ AUX _ _ 4 aux _ _
7 OMECMUH _ _ _ _ _ _ _
“I had no choice but to go”

“I couldn’t choose not to go”
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